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1. lim =?A)-1,B)-=-,(C)-=,(D)0
im=—5—=2(A)1,(8)-3,(0) %, ()
x+1 x<3
2. f(x)=<v25-x*, 3<x<5
X—8, X>5
(A)Iirr31f(x) (B) |irr51f(X)=O © f(x (D) f(x)
X '[2 2
IO e dt
im———=
3. o 2 ?(A) ©,(B)0,(C)1, (D)2
g I e dt
0
4, f(x)=ax+b 3x*y* —7xy® = 6-10y (1,1)
(A f 34 @B)a>b (C)a=b (D)ab>0
5  x>+3x=0 (A)1 (B2 ()3 (D)4
6. f(x)=x*-4x, xe[0,2], when x=aand x= b have the maximum and minimum values (if possible), then a-b=?
(A)-2,(B)-1,(C) 2, (D) 1
7. 1 5
(A)5 (B) 25 (C) 50 (D) 150
8. SupposeA,B,Care mxn, nxp, mx pmatrices, which of the following matrix expression is defined?
(A)BA (B)ABC (C)ABC' (D)AC
2 a-2b 1
0. 3 5 —2 | issymmetric then ab=?(A) -1, (B) 1, (C) O, (D) -2
2a+b -2 1
10. A 3 |A=2
(A) \(A-l)-l\z1 (B) \2A-1\=i (C) 2A%=4 (D) [2A7|=4
2 16
11. Y H R
(A) R:ZH:i/z (B) R:H:i/z (C) 2R=H=:§ﬁ (D) R:H:ci/g
T T v T
X—2
12. lim— = (A)e (B) — (C) +0 D)1 .
X—>+0 e—X
13.  Which of the following sets of vectorsisabasefor R®

(A)(1,0,0),(2,20),(3,3,3
(B) (2,-3,1),(4,1,1),(0,-7,1)
(©) (1,4,6),(2,4,-1), (-1, 2,5)
(D) None of the above.




14. Which of the following statementsistrue
(A)Every vector space has at |east two vectors.
(B) Multiplication of anonzero vector by a nonzero scalar never yields the zero vector.
(C) Matrix multiplication is a vector-space operation on the set M of all nx nmatrices.
(D) None of the above.

15. %(Ezcosxzdx)z(A) 2t?(cost*)  (B) t(cost®) (C) 2t(cost?) (D) t(cost?)

I sinx
1+ cosx

16. dx=(A) Inl+cos+C (B) —Inl+cosy+C (C)-Inl+sin+C (D) Inl+sinx+C

17. j_llidx:(A) w (B)w (C0 D) 1

N

o0 2 T T
18. e dx=(A B C)— D)—
[, Wz @Bz © O
» SNt T Vs
19. —dt=(A) = B c1 (D) =
N (A) 5 B~ ©1 (D) 7
111
20. Which of the following is not one of the eigenvectorsfor matrix {0 1 0| ?
1 21
1 2 2 1
@ |0 B) |1 ©|-1 (D)| O
1 0 1 -1
40 4
21. The derivative %of y= x¥M x>0 s
X
22, ye'+xsiny+2x=0 y'=
111
23. Givenamatrix A={0 1 0/, thentheinverse A™is
0 01
X+y+az=1
24.1f {x+ay+z=1 hasno solution, a=
ax+y+z=1
»Sin°t
25. | =
26. (2,-/2) x*+y* =2x% + 2y?
1 2
27. lim(x3(x+2)° -x) =
28. The area of the parallelogram that has u=-3i+4j+k and v=-2j+6k as adjacent sidesis
2 0 0 O
12 0 O
29. :
00 0 1
0 0 -65
0O 1 O
30. A=l1 0 -1 &

0O -1 O




